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3. QUIT = true;

4 for (i=1 to N) {
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7. }
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4.3.1 22 &l

m NP2 AdE0| b
U & a4y & &2 &
o= f(l} (410) 1 1 [ Y
z=p(x) |
o=g(z)
. - (4.11)
0 =¢g(p(x)) |

2017-11-22




4.3.1 22 &l

= N8t A
Zoz HAOl Ol F &
=4 So jd = 1<5<p

= (4.12)
z; =t(z_sum;
=2 0 Y == 1<k<m
P
o_sum, =% Z.Vy +Vy (4.13)

gt
(activation
function)
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4.3.1 A2 &l

= 2tAd &2 (activation function)
o AZJZ0|EC= HIEH &t AIE

o2 AR O|E Fm

1 ]
T (x)= o | (4.14)
T, '(x) = ot (x)(1-1,(x)) |
oF2 A|1Ro|E g
() =—=—-1
T4 LX) = -
=T l (4.15)
[0 3
1, '(x)= E(l + T, (0))1-1,(x)) J
1 o 1f P
=2 ca=1 / f,-f'?—ﬂ =1
0.5 A 1 0.5 =24/
S
0 0 1
—0.5 —0.5 )
-1 ! ; S e a— ;
-5 0 5 =5 4]
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a7 411 2 B0l UE OFF TERC) 37 BE 53
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Z R RNCRE)!
1'( _sum ) |
= B ESI X FOI 28 WFO 54 HO B
o (4.12)2 (4.13)2 e AHAHO| 2F 2] A
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o DHHE= BE e={u, v} 8 SO kA e "
P
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1 & 7
E=72.(t—ox) (4.16)
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« A3 (RAH N HS): JO)E
0 (4.16)9 2BE F0|= YEO
cE

vih+1)=v(h)+Av =v(h)— |::.E

cE
.
UT2E [4.4] Lt HAER (MLP) S

?:19'5] '.‘T-{—% 'ﬂf}j X= {(xlrt])r (Xg_.. tl), Ty (xa\": tk')}r D‘]H QE-"—"— P
=9 7157 uel v

Uare):

u(h+1)=u(h)+Au=uh)-p

1. uet v& Z=7|5kek}

il

2. repeat {

3. for (X2] M= 71zt sl {

4 @I @I3eR WY AR T
cE oE
—2 — 5 Kt

3. av |' Au = 7—'“"5‘_1_[:]'

6. @172 A2 uet vE Apleich

7. }

8. } until (stop-condition);
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&(0.5y (t, —0,)")
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6‘1".1-1— év.i'k
=5(0-5(fir -0,)7) EX =HLE KOIA
8‘1"-.1(
J
=—(ty —op) (,;Ok o= S8
C’l’ﬂ(
=ty —0y) O o, = (0 sumy)

a‘v'ﬁ

co _ sumy

eus
Lo s2z
. LEe
o ' @
vi )t OlXl= &&t

=—(t; —oy )t (0 _sum; ) —=
_ v

=—(ty —op )t (o _sum)z; q—uq 0_sum; = Vi +Vox
J=1
0p =(ty —0p )T'(0_sum ), 1<k<m
¢cE _ . .
Avy =—p——=p&;z;.0<j<pl<k<m

(4.18)
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8(0.5% (ty —0;)%)
_ k=1

= QI3 BAIZ A,

c
uy Cuy

n co

== (1, —0p)—
= Suy
n , o _sumy; gy

==> (ty —op )t (o_sumk)au— =5 o = t(o_sumy)
i=1 Uy

==>(t; o)t (o _sumy)
i=1
" oz .

=3 (1 ~0p ) (o _sumy vy — by = D0=SUM
i=l Ol J 0z;

=—Z (ty —op )T (0 _sumy )v 5 T'(z _sum;)x; ;= ™(z _SH?HJ-)
P}

- _; iCH (& sum, )x, 8y =(ty —0p )T (0 _sumy)

m
N; =t (z_sum;)> 6, vy, 1< j<p
k=1
cE L :
Aug =—p——=pn,;x;,0=i=d,1<j=<p
Ouy

b 12
[N Jg
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6.

= AR X={(xi, t1), (x2, 1), =+, (3w )}, BHGE p
7FsA] ugt v
2%
/ 2718}
. u2t vE 27|38tk
. xo=zo=1; /I Hlo]ojA
repeat |
for (Y| A1 z}zke]| il
AR AL x= (i xa) O t= (Gt te) 22 BRI
I A ALY
for(j=1top) {z sum, ﬁz Xy Z t(z _sum;); } I/ (4.12)
i=0
for (k=1 to m) {o_sum, = izr,-vjk: op =t(o _sum;); } // (4.13)
Jj=0
/95 Azink
for (k=1 to m) O =, —0x )t (0 _sumy); // (4.18)
for (1X= V_;ks()ﬁ.l'sﬂe I<k<mof ojsl) Avy =pdiz;; // (4.19)
for (=1 to p) M, =t'(z _sum; );6:’:"’!}\- : /1 (4.20)
for (W= u;. 0<i<d,1<j< poj tli5H) Au,j- =pn ;X Il (4.21)
I 7¥s2] 7841
for (}25 Vi, 0L j<p, 1<k <mo &) Vig =V +&vj-k; I (4.17)
for (P& u;,0<isd, 1sj<spoj thall) uy =uy; +ABu;;  // (4.17)
J
.} until (stop-condition);
. ue} vE ARSI
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4.3.2 st5
= OGlA 4.4

A ARRe §) mA [x=(07, 02 t=(-1L1)’

ato] 6 z_sum2 1 2= 015441
z sum; = 1*0.3+0.7*0.4+0.2*0.2 = 0.62000
z_sumy = 1*(—0.1+0.7*(—0.5)+0.2*%0.1 = —0.43000
£ = T2(062000) - 2/{14‘6_0'62%0)— 1 =0.30044 for (j=1to p) {z sum, = ix,-u{-f; z; =t(z_sum,;);} Il (4.12)

— !

7> = 12(—0.43000) = 2/(1+e"*" —1 = —0.21175

2gl 7:
o_sum; = 1*0.1+0.30044*(—0.2)+(—0.21175)*0.4 = —(0.04479
o_sum; = 1*0.2+0.30044*0.3+(—0.21175)*(—0.1) = 0.31131

P

o)1= Tz(_0.04479) = —0.02239 for (k=1 to m) {0 _sum, = Z:jl’jk; o =t(o_sum;);} // (4.13)
j=0
02 =12(0.31131)=0.15441

o] thF HAEELS 8 x=(0.7,0.2) o] el 0 =(—0.02239,0.15441)" S =519
tf. 7ldigh= &k t=(—1,1)' 7] 27 oo} o] Akt 4 9t

m

1 >
E:;Z(f;{ —01,11. )-

E=0.5%((—1.0—(—0.02239))* + (1.0 —0.15441)%) = 0.83537 2 =1




‘ 4.3.2 8%

oAl o5 st TAS A B

2l 8:

& = (-1.0+0.02239)73 (-0.04479) = —0.97761% 0.5 * {1+ 7 (-0.04478))(1 - 73 (~0.04479))

=—0.48836 Z_sum2 "1 2= 015441
8y =(1.0-015441)75(031131) = 084550 0. 5*(1+ 1, (0 3113 1)1 - 1, (0.31131))
=0.41271
2kl o
02*(-0.48858)*1.0=-0.09771 ol
fvgy =02%(=0. )*1.0=-0.09] 8. for (k=1 to m) 8 = —0,)t'(0 _sumy); /I (4.18)
Avgy =02%0.41271*1.0 =0.08254 9. for (= vy, 0<j<splsk<mof tjsf) Avy =pdsz;; // (4.19)
SATr = * ¥ = — f L N
Avyy =02*%(-0.48856)*0.30044 = -0.02936 10, for (=1 to p) N, =T(z_sum, )ZC’!«"/A : I (4.20)
s
Avy; =0.2%0.41271*0.30044 = 0.02480 ) ! : :
11. for (L= u;,0<i<d, 1< < pof tfal)) Auy; =pn;x;; /l(4.21)

Avyy =0.2%0.41271%(-0.21175) = -0.01748
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b2l 10: _
= T4 (0.62000) * ((—0.48856) * (~0.2) = 0.41271%0.3) = 0.10076

My = Th(~0.43000) * ((—0.48856) * (0.4) + 0.41271* (-0.1)) = —0.11304 =,

2kl 11| :
}al 11: Auy; = pm ;x; ]

X2

Aug, =0.2%0.10076*1.0 = 0.02015 ol 05—
Z_sum?2 '
Ang, = 0.2%(-0.11304)*1.0 = —0.02261 4 SRR ,

) 8. for (k=1 to m) O = —0;)t(0_sumy); Il (4.18)
iu:l-_ =02*0.10076*0.7=0.01411 9. for (5 Vg, 0<sj<pl<k<sm of o) Avﬂ. :pékzj; // (4.19)
Arpy =0.2%(=0.11304)*0.7 = —0.01583 10. for (=1 to p) My =T (z_sum )Y 8, I/ (4.20)

k=1
5”2'_ =02*0.10076%0.2 = 0.00403 11. for (M= u;,0< i<d. 15 j&p of thally Auwy; =pn;x;; /)l (4.21)

Ay = 02%(=0.11304)*0.2 = —0.00452
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4.3.2

]
i

= GlA 4.4

ol 7+g2) 34l FAE s 2L

2h2l 12
vy =0.1-0.09771=0.00229
gy =0.2+0.08254 = 0.28254 /I 7V g2 72841
vy, =—02-002936=—0.22936 for (BE vy, 05 j<pl<k<mof tial) vy =vy +Avy; // (4.17)
1y =0.3+0.02480 = 0.32480 for (5 uy;,0<i<d,1<j<poj sl u; =u; +Auy;  // (4.17)
vy = 0.4+0.02069 = 042069
vz =-0.1-001748 =0 11748 o] A vpx7] Mol St TIkE Il B of AU MR P ush vt
a1l 13 FoREAE Helshs Aotk 2Rl 63 2Rl T2 A AlLke sfEa

=03+002015=032015
o i 9l 69 T 03 5 032015

z_sumn = 1.0*0.32015+0.7*0.41411+0.2%0.20403 = 0.65083
z_sumy=1.0%(—0.12261)-0.7*(—0.513583)+0.2*0.09548 = —0.46450

ugy =-0.1-0.02261=-0.12261
w; =04+0.01411=0.41411

uy =—035-0.01583=-0.51583

nn=10.31440
1y =0.2+0.00403 =0.20403 2= —( 22821
up =0.1-000452=0.00548 o_sum = 1.0*0.00229+0.31440%(—0.22936)+( —0.22821)*0.42069 = —0.16582
o_sumy = 1.0%0.28254+0.31440%(0.32480)+( —0.22821)*(—0.11748) = 0.41147
o1 = 12(—0.04479) = —0.02239 o1= —0.08272
02=12(0.31131)=0.15441 o1=0.202188

0=(—0.08272,0.20288)"& ¢o] 227} Yaks t=(—1.1)70) 7IHAHESE o 4= ¢
0017-11-22 ok ©FE E=0738400] Ho| ojuc ZolEUe s e 4 Ak
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1. u2f v 2jo] MLPE AAsh)
2. xp=z=1: // "je]o]~

3. for j=1top) {z sum; =y Xl

d
Yy
i=0
F

4. for (k=1 to m) {o_sum; =Z:J-vjk;

J=0

5. x2 g=argmaxo; 9l w2 HFFCh

j

I

=1(z _sum;): }

o, =t(o_sum).} [/

IV ke e
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ol
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it

fowt
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ol
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